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j . 1f 80% of A=50% of B and B= x% of A, then the
l

value of x Is:
{ Ite AFT80% saL 8 B+ 50% 3 ,B X
X%%A T X T /T AT HL ?
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2. If 15% of (A+B)=25% of (A-B), then what percent
of B is equal to A?
[ % (A+B) FT 15% 2797 £ (A-B) ¥ 25% ¥ 3
I°h<'|"l| giaerd A & STET g ?
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I 3. X’sincome is 20% more than that of Y. What

percent Y’s income less than X?

{ X &0 3T 20% teeh g Y ol s &, v Y &t 3T X &t
W@rlohdd giqerd 9 §
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! 4. If the income of Ram 12 %% more than that of shyam, the

income of shyam is less than that of Ram by |
Tt T T ST 122 ~% STTE g <ATH =T ST | qT LATH =l 377
W%H%(Hﬁﬂﬂﬁ(ﬁ?ﬁﬁ)
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If 80% of a number added to 80 gives the result as the
number itself, then the number is:

{ ﬁv‘iﬁﬁ'wwSO% ﬁ'BOGﬁ_S'ﬁTITWlI‘\dIEIﬁUWM@H

ATEqtah HEAT ITH gl g dl GedT ;Td Y ?

a. 200
b. 300
c. 400
d. 500
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6. When 60 is subtracted from 60% of a number, the
result is 60. The number Is:

f ST Tohel 93T & 60% o 60 T a7 fadar 1w 9
&Y 60 ITH ZIaT & al AT ATd HY ?
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j 7. A number increased by 22 —% gives 98 as result.
The number is:

Wﬁw‘{ﬁﬂum F 22—%5@'[%'5”\?”'\ STREIERUIE: RS

|' 08 ITH gl g ,dl H&dT ST &Y ?
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8. The income of C is 20% more than B’s and the ‘ ‘
income of B is 25% more than A’s. Find by how much
percent is C’s income more than A’s?
Ca?rswzo% sﬁa-os%@rsﬁTBa?rawzzs% STFQ‘oﬁé’AEhQr
| T 9T ST e T C st 3T A T AT TR Jiderd
sﬁé-oﬁ%?
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a. 150%
| b. 50%
I c. 25%
Iy d. 35%
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9. The difference of two numbers is 20% of the larger ‘
number. If the smaller number is 20, the larger

l( number IS:

3T GEATAT T AL AL g Il HC&AT % 20% o a6
| ST et §e AT 20 2 7 a7 /I HL?

a. 25
b. 45
c. 50
d. 80
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10. In an examination A got 25%marks more than B, B got 10%less
than C and C got 25% more than D. If D got 320 marks out of500, the
marks obtained by A were \
T LT H, A I, B & 25% i 31fers 9T g0 B T C & 10% H 3= 9t |§
| g1 5% C 1 D & 25% i A T gul ATE D 1 500 F & 320 i A |
| 5000 |‘
|| 2T, aAT A T Tohd 3 979 gU? .
; |
|
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a. 405
b. 450

c. 360
d. 400
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! 11. Price of sugar rises by 20%. By how much percent |

should the consumption of sugar be reduced so that the
‘ expenditure does not change ?
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fﬁT'ﬁ'Ohl-cl\c'?-{ ffZO%EhQrfilqg 2l STl g, ar AT % @9 %l
BELEURIRER FH FA 2T

qrieh FHT 9 @4 JqRaiad <g?
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a) 20%
o) 10%

(C) 16 %
) 15%
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4l 12. The price of an article is decreased by 10%. To restore its
former value the new price must be increased by:
FrdT a&q & 7T H 10% st T 3 SATAT &, AT I8 h ToF il IATT T@
l T 2 7o | oo sfaera it gi FHEAt gt ?
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a) 10%

b) 11%
c) 11-%

1
d) 11:%
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13.The price of an article was increased Two times successively by
10% each time. By what percent should the new price be reduced so }

as to restore the original prlce \
T F& h *hIHq frwllcu( 3T AT 10% 1 FHNTT Jig T T| T FE
I

@afﬁ&wsﬁﬂ—crwm Wﬁgﬁaﬁwﬁﬁmﬁﬁwaﬁaﬁrwﬁ
?

a) 15% | |
b) 17.36% ’l'
(c) 17% w

(c) 16.36%
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14. If the price of a commodity is decreased by 20% ‘ )
and its consumption is increased by 20% What will be §

f the increase or decrease in the expenditure on the |
B commodity? '
| A FT 20%%4|¢o1|c||%3ﬁ'(@’q—cr 20% ¢ ATt g ar ‘
| @ T AT AT HATHRL? ) 49 t

Increase/dal
b) 4%

decrease/‘a‘c"r
c) 8%
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R ———— e
e ———— e ——————

1'& e
' 15. The price of sugar is reduced by 20%. Now a
person can buy 500g more sugar for Rs. 36. The

‘f original price of the sugar per kilogram was:

N =TT % T 20% =S ST 9 =F 1<k 500 ITH e I1e
| AT 7 FTT 36 /AT ATAT T ATEG (0 ITH TG HL I

IRIE a) Rs.14.40
b) Rs.18

¢) Rs.15.60
d) Rs.16.50
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T 16. In an examination a candidate must secure 40% marks to pass. A
candidate, who 220 marks, fails by 20 marks. Find the maximum

marks for the examination ?

l T TET | I &1 6 17 40% 306 a1 T =i 220 & 9t |
2 3T a2 20 Rl & AHEA Bl ST &, a1 TLEAT § b o fohad a7 ||

!

a) 1200
b) 300
c) 600
d) 4350
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N 17. In a class 60% of the students pass in Hindi and 45% pass in
Sanskrit. If 25% of them pass in both subjects, what percent-age of

the students fail in both the subjects ?
T el § 60% =1 %‘cﬁﬁﬂ%m TAT 45% ST & H 9% gld ol Tia

ITH  25% =T AT AT § T 3id g, aT 41 Audr 7 fehae qiaera
EIEE LR R
|

a) 80%

b) 75%
c) 20%
d) 25%

e ————— —




N 18. In an examination, 34% failed in Mathematics and 42% failed in
English. If 20% failed in both the subjects, the percentage of students

who passed in both subjects was:

Tah TUET H, 34% TR IO § 9T 42% TTQAR0 SRSt § 96 gid

F. S| AT 20% FIAAWIT 2T TE0IT | TG gU 1 af Tehc el Traerd Trasi
EEGIREER I Kk T I I
|

a) 954%
b) 50%
(c) 44%
(d) 56%
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IF 19. A candidate who gets 20% marks in an examination fails by 30
marks but another can candidate who gets 32% gets 42 marks more

than the pass marks. Then the percentage of pass marks is:

SR BId g 3T a8 30 ﬂﬂ?r@r?ﬂ?rqv_vr

B 2T ST @ oAtene g8 T =l 32% 376 ITH 21d @ 31T IH IAT011h H 42
| %W%W@ﬁ%?ﬁ‘ﬁﬁﬂf\%ﬁwﬁ% T 27

(a) 52%
(b) 50%
(c) 33%
(d) 25%




20 In a test a student got 30%marks and failed by 25 marks In the
same test another student got 40% marks and secured 25 marks
more than the essential minimum pass marks. The maximum pass

f marks for the test were?

T G007 § Uk T il 30% 3k 9T BId & T a8 25 IRl § AqFHA

| 2l STAT gl ST TL&T H 9L B Sl 40% 3 T8 gid g 3T IH IT0714h
|| & 25 3T ot ferd & ar e | STiersha® 3ol 3ieh A7 A?

Il

|‘|
|
|

(-




